<?xml version="1.0" encoding="utf-8"?>
<calibration user_name="calibration test">
<pedal>
<name>clutch</name>
<sensor>
<name>LC1</name>
<type>LC</type>
<min>5</min>
<max>254</max>
</sensor>
<sensor>
<name>FSR1</name>
<type>FSR</type>
<min>363</min>
<max>954</max>
</sensor>
<sensor>
<name>IR1</name>
<type>IR</type>
<min>0.2356472795497186</min>
<max>0.4603550295857989</max>
</sensor>
</pedal>
<pedal>
<name>brake</name>
<sensor>
<name>LC2</name>
<type>LC</type>
<min>74</min>
<max>114</max>
</sensor>
<sensor>
<name>FSR2</name>
<type>FSR</type>
<min>0</min>
<max>635</max>
</sensor>
<sensor>
<name>IR2</name>
<type>IR</type>
<min>0</min>
<max>0.01823607427055704</max>
</sensor>
</pedal>
</calibration>



